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1, fe & B 5

SILEN_BEMEEE, BOINGE LEATE,
ngxt, HEHITENH“GOOD”, #HEWHENLXM S — B
WmERA, MITEH “TRY AGAINY” (B—%k), HEH
FTENA, EREEFD L.

.
12+43=17 55(A SRR 55 RUERHEMNBRBAW, TED
GOOD|
58+ 75=19 133
GQOOD
83+31=17 124
TRY AGAIN}
83+31=17 68
TRY AGAIN]
83+31=19 114
GOOD1

BFA:

10 A=1INT(100% RND (0))

20 B=INT(100* RND (0))

30 PRINT A;“+7,B,%=7,

40 INPUT C

50 IF C=A+B THEN 80
60 PRINT “TRY AGAIN;”

. 1;.



70 GO TO 30

80 PRINT “GOGCDY’
90 GOTO 10

100 END

2, BREMNREAER)

HENLA MR — 8, EXELEHEMHE
M. aRRAHBBE R K EEY, HELSKRRR
“VERY GOOD” B H¥iE; mREHT (EEOHREL
Bz AL ITE “WRONG” HERIRERICE..
Rl —@=k&, RS SFRERE S,
4n: 50/3 =716, 2 (16 4, 2 ARKED

VERY GOODg

41/8=17 5, 2

- WRONG!

41/8=9 4, 3

WRONG!

41/8=175, 0

WRONG!

THEY ARE 5, 1 (PR A5 Ry

80/7=1

BIFHR.
5 N=0
10 A =INT(100* RND(0))
20 B=INT(10 % RND(0)
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30
40
50
60
70
80
90
100
110
120
130
140
200

PRINT A; “/”; Bs “="

INPUT C, D

C1=INT(A/B)

D1=A-C1%B .

IF C=C1 AND D=D1 THEN 130
N=N+1

PRINT“WRONG) ”

I" N < 3 THEN 30

PRINT “THEY ARE”; Cl; “, "y D1
GOTO 5

PRINT “VERY GOODy *

GO TO 5

END

3. FEME(BRFIS)

R ERER (—A— BRI — A — R

LD

HIREE, VRBFHTRERITA. IR+ 8 & R 48

BT, MEEKAYR 100 4y, H—Gm 10 4, 10 L
¥, T E# “VERY GOODp ” , ¥ A B LLE, £ H
“GOOD1 7 , #tei8dk7 &M, A “PASS) » ., EH
LA, &1 “FAIL? ,

NO.1 2%24=17 48
NO.2 3%92=7 187
NO.3 6%72=17 432
NO.4 4%14=17 b6
NO.& T%21=17 147
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NO. 6 3%31=7 03
NO.7 5%15=17 75
NO. 8 6% 46=7 276
NO. 9 9% 9=7 81
NO.10 @ 1%82=7 82
YOUR SCORE 1S 90
GOODy -

B

20 S=0

30 FOR I=1 TO 10

40 A =INT(10 % RND(0))

50 B=INT (100 + RND(0))

60 PRINT“NO.”; I,

70 PRINT A; “%7; By “=7

80 INPUT C

90 IF C < > AxB THEN 110

100 S=S+10

110 NEXT I

120 PRINT “ YOUR SCORE 1S”; S

130 IF S<60 PRINT “FAIL) ”; GOTO 170
140 IF S<80 PRINT “PASSy ”, GOTO 170

150 IF S<{100 PRINT “GOOD; ”. GOTO 17¢
160 PRINT “VERY GOOQODy »
170 END

i A& %
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hEAON: (1) 6142 (2) 812 B 91L (1ML .

FHEBERA (1 , B 101,

HIRXAE R WTERERREFERTN, M 47 RP%
AT ITAHEN, AREREZLEEN, HBIIHESR
TAUENL, HELABENSERHE AL, #ExrEA
FHEZEXMTILE, AR RGZEAERRITABRIINEZ .

110 E# & TRS-80 & L BASIC hHkiERER E
R, BRLMERAERERIAITABERE R,

TEST SCORING

INTUT THE NUMBER OF ANSWERS? 5 (=& JL
EE? RITA 5 FZRiREDA 5 B
INPUT CORRECT ANSWERS,
(REZREHHTEREEITA

NO.17 3 | (F—BHERERIOD))
NO.27 2 (T HHTERERBG)
NO.37 1 GE=ERERERB Q)
NO.47 2 GEMERERZERAQ)
NO.57 3 CGEARIEREEAR ()

(R FER, DTHRRETABHESR
STUDENT'S ANSWERS,

NO.1 ANSWER? 2

NO.z ANSWER? 2

NO.3 ANSWER? 1

NO.4 ANSWER? 3



NO.5 ANSWER:? 3
YOUR SCORE IS 3 (& =)

GEBREIE R H B —% R
STUDENT’S ANSWER,

Ao

NO.1
NO.2
NO.3
NO.4
NO.5

ANSWER?
ANSWER?
ANSWER?
ANSWER?
ANSWER?

GO DN e DY

YOUR SCORE IS 5
B H. '

10
20
30
40
50
60
70
80
85
90
100
110
120
130
140

"PRINT TAB (15); “TEST SCORING”

DIM A(100), C(100)

PRINT

PRINT“INPUT THE NUMBER OF ANSWERS?”;
INPUT N ‘
PRINT “INPUT CORRECT ANSWERS,”
FOR I=1 TO N

PRINT “NO.”; I;

INPUT C(I)

NEXT I

CLS

PRINT “STUDENT’S ANSWERS, ”

FOR I=1 TO N

PRINT “NO.”; I; TAB(10); “ANSWER?”,
INPUT A(I)



145 IF A(I) =0 THEN 240

150 NEXT I

160 S=0

170 FOR 1=1 TO N

180 IF A(I) <> C(I) THEN 200
190 S=S+1

200 NEXT I

205 PRINT ,
210 PRINT “YOUR SCORE IS”; §
220 PRINT

230 GOTO 100

240 END

5. 8“7 1%

Rl BB —4 1—100 Z RIS X, #E0BIRE
3. 5F 7 HABAIA=SAKE RITXERECEIRFHEN, MR
BLAR LD L 5% RO s X AN B,
Rftamisghyh kv DR POtk k% mBREAH, 7
DERA R 100—130 B4, HERIEFMT.:
PLEASE THINK OF A NUMBER BETWEEN 1
AND 100. f i
YOUR NUMBER DIVIDED BY 3 HAS A
REMAINDER OF7 1 (JRIGKELLS &L D
YOUR NUMBER DIVIDED BY 5 HAS A
REMAINDER OF7 0 (fR#9%&BRELS £JL2 0)
YOUR NUMBER DIVIDED BY 7 HAS A
- REMAINDER OF? 5 (RIGEBEL7 &£JL7 5)

v 7@



LET ME THINK A MOMENT-- Co

YOUR NUMBER WAS 40,RIGHTYES (4Rt $it 52 10)

HOW ABOUT THATI!!

LET’S TRY ANOTHER,

PLEASE THINK OF:' A NUMBER BETWEEM 1
AND 100. :

YOUR NUMBER DIVIDED BY 3 HAS A
REMAINDER OF? 1 '

YOUR NUMBER DIVIDED BY 5 HAS A
REMAINDER OF7 0

YOUR NUMBER DIVIDED BY 7 HAS A
REMAINDER OF9 2

LET ME THINK A MOMENT:-

YOUR NUMBER WAS 100, RIGHT? YES

- HOW ABOUT THAT!!
LET’S TRY ANOTHER;
PLEASE THINK OF A NUMBER BETWEEN 1
K AND 100,
YOUR NUMBER DIVIDED BY 3 HAS A
X REMAINDER QF? ¢

YOUR NUMBER DIVIDED BY 5 HAS A
REMAINDER OF7 4 '

YOUR NUMBER DIVIDED BY 7 HAS A
REMAINDER OF? 4

LET ME THINK A MOMENT-..

YOUR NUMBER WAS 39, RIGHT¢ NO

I FEEL YOUR ARITHMETIC IS IN ERROR,

k8o



LET’S TRY ANOTHER, |
PLEASE THINK OF A NUMBER BETWEEN
1 AND 100,

~YOUR NUMBER DIVIDED BY 3 HAS A

REMAINDER OF7 1
YOUR NUMBER DIVIDED BY 5 HAS A
REMAINDER OF? 1
YOUR NUMBER DIVIDED BY 7 HAS A
REMAINDER OF7 1
LET ME THINK A MOMENT...
YOUR NUMBER WAS 1, RIGHT? YES -
HOW ABOUT THAT) 1

B4

30

40

45
50

55
60

65
80
90

PRINT “PLEASE THINK OF A NUMBER
BETWEEN 1 AND 100.”

PRINT“YOUR NUMBER DIVIDED BY 3 HAS
A REMAINDER OF”,

INPUT A

PRINT “YOUR NUMBER DIVIDED BY §
HAS A REMAINDER OF”,

iNPUT B

PRINT “YOUR NUMBER DIVIDED BY 7
HAS A REMAINDER OF”,

INPUT ¢

PRINT “LET ME THINK A MOMENT:.”
FOR I=1 TO 1500, NEXT I

100 D=70%*A+21*B+15% C



